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QUESTION BOOKLET

This question paper contains 170 questions. /ST I IAH 170 TH & |
All questions are compulsory. / @5t 337 31f4a/ & |
One question carries half mark only. / T I%4 o T Shaet YT 376 2 |

Maximum Marks : 85 JATYhaT 37 : 85
Time : 2 Hours g : 2 g0
1.  Inscriptions have greater importance than literary works as sources of

history as they
(A) refer to ruling dynasties (B) provide dates
(C) record political events (D) mention public grants

3foraTd % &id o &9 | Arfefcres o7t 6t e iferal w1 98d ue §, it 3
(A) I a3 H Tl 8 @ |

(B) i@ TEH Hd & | Big
(C) TSHereh T3 i AfieiRad id 3 | i

(D) G SIEH T Jeoid Hid 2 |

The remarkable characteristic about the arrangement of the houses in the
Harappan cities is that they adopted

(A) grid system (B) cross roads

(C) angular system (D) circular roads

TS I oh T oh SHAEUTHH o R # fafere fomivan g foh sai= 1o /=0t o /f
(A) Brefeem  (B) wHETS (C) TR f&en (D) THer U
The most important. functionary to assist the king in day-to-day

administration in the Rigvedic period was the
(A) Law officer (B) Tax collector (C) Purohit (D) Senani

FRSIfeeh It H ¢feh TRTRH T TSI <hi FETIdT ¢ o foTe Faifereh Hawayul STRmert o
(A) fafu sfasil (B) wuumes  (C) Wi (D) &R

The Vedangas consist of the

(A) Kalpa, Siksha, Nirukta, Vyakarna, Chandas, Jyotisha

(B) “Kalpa, Siksha, Brahmana, Vyakarna, Chandas, Jyotisha

(C) Kalpa, Siksha, Nirukta, Aranyaka, Chandas, Jyotisha
(D) None of these

e H St @

(A) ey, Trer, frea, s, B, Sy
(B) ey, f3ret, siTarn, e, e, Saifay
(C) ey, frem, fream, 3mwaes, B, Sifay

O wwmE
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5. Who was also known as ‘Kunika’ ?

(A) Prasenajit (B) Gautam Buddha
(C) Bimbisara (D) Ajatashatru
forg P @ Hft ST ST 2 2

(A) J&ARTa (B) TdH g (C) fefremm (D) IASTaS

6.  The Jataks and the Dhammapada are found in which Nikaya of the Sutta Pitaka ?

(A) Digha Nikaya (B) Majjima Nikaya
(C) Samyutta Nikaya (D) Khuddaka Nikaya
STk 3R THIITE T U< o Tohdl eI § 91T SITd & 2

(A) &= frpm (B) wiww fem

(C) &g Fepma (D) e

7.  “It is not possible to record with accuracy the number of Mauryan cities on
account of their multiplicity.” Who gave this statement ?
(A) Megasthenes (B) Heliodoros
(C) Arrian (D) Justine
“Ti JTEUl <ht T Wl ekl fafaerdr & 3UR W Igar % @y feifad s
TS 81 8 |7 I8 YA fohe feam 2
(A) WS (B) 2ferisRE  (C) HfeH (D) A

8. Edicts of Ashoka refer to the Barabar hills as the

(A) Kharavatika Hills (B) Khalatika Hills
(C) Nagarjuna Hills (D) Priyadarshi Hills
3791 o HLAM § SR UTSAT ol 39 €9 H T-gd hid &

(A) GRETeH! qgiieat (B) w@refifesht qaifeat
(C) A werfeat (D) forreeft werfeat

9.  Dasakumara Charita was written by
(A)._Dandin (B) Bharavi (C) Visakhadutta (D) Subandhu
cHPH A fehem forar 7

(A) cfued (B) WRfd (C) fsm@ea (D) §54

10. In the Chola kingdom, what was the basic unit of exchange in the rural areas ?

(A) Paddy (B) Cowrie (C) Kakini (D) Gold coins
<t TrmTs | ety & o Tt 6t qe genrs @ oft 2

(A) 9™ (B) gl (C) rfehrt (D) %@l g
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11.

12.

13.

14.

15.

With whose accession to the throne there began an era of strong, centralised
government ?

(A) Iltutmish (B) Balban

(C) Nasiruddin Mahmud (D) Mahmud of Ghazni

fopereh THRTEA T STRIET < ©1e1 Ueh fARITCAT, Shrsiiehd HXehR <h T <l TR 83T ?
(A) Sogaras (B) atsd

(C) THEEH AEg (D) WEWE Tt

Sloping walls (batter) was a striking feature of Tughlaq architecture. It was
absent in the buildings of

(A) Ghiyasuddin Tughlaq (B) Muhammad-bin Tughlaq

(C) Firoz Tughlaq (D) None of these

AU aTed (SeX) et Irehall ol TuTel fomyar oft | sgept fopmehl samal |
AV AT 7

(A) Frmgde grer (B) Feme-far g g

(C) TRt girereh (D) & A&l )

The causes of the conflict between the Vijayanagar and Bahmani Kingdoms
were

(A) political and cultural (B) cultural and economic

(C) political, social and economic. (D) political, cultural and economic

fIITR 3R SrgwH1 TTHT=al & o= 999 & R0l o
(A) TSfaeh 3T HEhids (B) Hhice 3R 3Tl
(C) TSHfeen, AmTfors 3R 3w (D) TS, Ashiaeh 3R 3T

Which Deccani sultan had the title of ‘Abla Baba’ or ‘Friend of the poor’ ?

(A) Al Adil Shah (B) Bahman Shah

(C) IbrahimQutb Shah (D) Ibrahim Adil Shah-II
fora gférft goram i Iutfer <sraem e = e o1 fiae off 2

(A) I 3TTC =g (B) <& I8
(C);-STET™ Has A8 (D) FoTEM Ife =g — 11
The trinity of Bhakti movement in north India refers to

(A) Nanak, Kabir, Ravidas (B) Nanak, Mira, Ravidas
(C) Mira, Kabir, Nanak (D) None of these

I 9RA | 9fea 3TTeier o B § Twefvid 3

(A) T, B, Fagm (B) AT, Wi, g™

(C) T, HaR, THh (D) 8 9 His T&l
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16. Aurangzeb’s Deccan policy did not result in
(1) Financial crisis for the empire
(2) Improved agrarian system
(3) Terrible loss of men
(4) Demoralisation of troops
Select your answer using the codes given below :

(A) (1)and (2) (B) (2)only (C) (3)and (4) (D) None of these
TS i gferor Hifa uftomfira T g3 -

(1) == o foxfia gepe

(2) Y JorTed! skl 3T

(3) &l hl ur B

(4) BT 1 Afce Taq

=t feu 77T e T =T hd T 319 IAL T = HINT :

(A) (DIRQ) B) FaG(2) (C) B)HR(4) (D) FHH KT

17. When Robert Clive reached Madras in'1744, he took a job as a
(A) writer (B) trader
(C) revenue assessor (D) soldier
1744 T I9 a1 FATSd T5TE Ug a1, 3H I 6 fohan ?

(A) T@H (B) =T (C) T~ fautes (D) dfes

18. Debendranath Tagore started

(A) Dharam-Sabha (B) Prarthana Samaj
(C) Arya Samaj (D) Tattvabodhini Sabha
ST TR A & o /fema

(A) & g (B) WITHAN (C) IFEAN (D) S G

19. Which was the first place captured by the Wahabis in the holy war against
the Sikhs ?

(A) Attock (B) Lahore (C) Peshawar (D) Amritsar
T = foeg v I # FETieri 4 T8 gl fohdl T W 3R fekarm 2

(A) 5 (B) V&R (C) U=IeR (D) IHAE
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20.

21.

22,

23.

24.

After the pact between Mahatma Gandhi and Lord Irwin in March 1931,
many leaders became critical of Gandhiji’s leadership. What was the main
reason ?

(A) The militants gained importance.

(B) The rural masses were not to be included.

(C) The Satyagraha policy was becoming stagnant.

(D) The Civil Disobedience Movement was called off.

T 1931 T HETeHT e 3T i S o s ueiid o 91¢, 3 Jd1 Mefs &
Aqcel o HTeAT=h &1 7T & | $HehT & ST T T 2
(A) ST ! HEwd RTd 53T |

(B) T AT okt SITferer & feham T o |

[
(C) Temig Hifd Feas &1 718 | S

(D) Tfeam 3Tas grer fira foram mam |

The crust of the earth is composed of

(A) Silica and Aluminium (B) Silica and Magnesium
(C) Nickel and Ferrium (D) «Nickel and Aluminium
gelt i it gkl o Bl @

(A) Taferen 3t vegfafT=m (B) Taferest 3t ffsem
(C) Tieret 3T Hiem (D) fieT 3R Tegfuf=m

Which of the following forms of igneous rock constitutes the greatest body ?
(A) Phacolith  (B) Lapolith (C) Laccolith (D) Batholith
AT I ol (= B & & A1 ®9 foemet fyvg samar g 2

(A) Hhifay (B) wuifay (C) Ahifery (D) sUifery

The depression formed at the mouth of a volcanic vent is called a

(A) crater (B) caldera (C) volcanic sink (D) geyser cone
STt gR % g 1 ffid 7d wEerdr 8

(A)$het (B) wHTeeq (C) SaTmElt i (D) e
Secondary earthquake waves can pass through

(A) solid materials (B) liquid materials

(C) semi-solid materials (D) All of these

Taeitareh e AT TSR Hehdl! &

(A) 3 et & (B) A uqAi ¥

(C) -39 ugredi & (D) ot

7 ~ Code No. : C-654/2020/Series-A



25.

26.

27.

28.

29.

Inversion of temperature is

(A) increase of temperature with elevation
(B) decrease of temperature with elevation
(C) uniform temperature

(D) decrease of temperature with latitude

AT 1 HAY &
(A) 4TS % 919 a9H | gig (B) ST & |1 dT9HH § HHt
(C) THTUT qTIHH (D) 3TEITS < |1 ATIHH H HHT

Horse latitude is characterised by
(A) strong cyclones and low pressure (B) calm conditions and low pressure
(C) calm conditions and high pressure (D) None of these

7T 3TeATST 1 3EE Tererefiehe foham i 2

(A) g Tshara 3R = ge (B) 7. 3remd 3R 1 gre

(C) T 3TELATT 3TR 3= g9 (D) « 378 © i3 T&l

Which of the following clouds make.a halo around the sun and the moon ?
(A) Cirro stratus clouds (B) Cirrus clouds

(C) Cirro cumulus clouds (D) None of these

7 5 8 ®F 8 79§ 3R =501 o IR SR THTHEA ST & 2
(A) TeTUER TE (B) 9y Y™ (C) HUt AT (D) 8 O His A&l

How much area of the oceans is covered by the continental shelves ?
(A) 7.5percent (B) 15percent (C) 22.5percent (D) 29.5 percent

TETETT &1 TohaT &1 HETE YT Sudel g 3TEid & 2
(A) 759 (B) 159faed (C) 22.59faed (D) 29.5 Ufaerd

Which of the following ocean currents is a part of The Gulf stream ?
(A) Florida current (B) Labrador current

(C) North Pacific Drift (D) Canary current

71 5 @ o € AEETEE 9 e R T HET R 2

(A) FARGT I (B) WSER R (C) I J=0=d &1 (D) hATdt 91

CodeNe T Csin ey g



30.

31.

32.

33.

34.

What is Eutrophication ?
(A) Cutting of trees on a large scale
(B) Excessive accumulation of salt content in the soil

(C) Phenomenal growth of few plants in nutrient rich water of lakes or ponds
(D) All of these

T TR 2

(A) &2 I T et i Herg

(B) Tirdh o tavr 3791 1 Ircafies T=

(C) ST 3@ ATCATS o UINUT G ST H e UIGUI ohl STETINY dig

(D) =g @t !E%gj
[m]e2

Maoris are the indigenous inhabitants of which country.?
(A) China (B) Australia (C) Germany (D) New Zealand

maTaTe fRe 91 3 e e § 2
(A) == (B) Iggfern  (C) SwiHl (D) leivs

Which is the basic factor for dividing the world into major natural regions ?

(A) Vegetation (B) Climate (C) Soils (D) Habitation
forea =ty et &t o fawifig s o fofe gt wRe T 2 2

(A) aT@fd (B) SictaTy (C) fedt (D) TemE-TJH
The largest city of Switzerland is

(A) Bern (B) Zurich (C) Geneva (D) Lausanne
fEITSeivE 1 TaH 9 T & 8

(A) (B) wifrE (C) far (D) wrEm

The Shillong plateau has been separated from the main block of the Indian
Plateau by a wide stretch of the alluvial lowland called the

(A) Burhanpur Gap (B) Garo-Rajmahal Gap

(C) Hazaribagh Plateau (D) Rajmahal Hills

Ste Ty <l =Sl fadm gRI AR Y8R o J&7 WUe § I 18R 9o &
@18, Sl STl 2

(A) SEHEE foex (B) TRI-TsHad faet

(C) BIRIET 43R (D) TSHES UgIieat

T T T Cade Ne. s Co6a A 030 Serienh



3S.

36.

37.

38.

39.

40.

Beyond Farakka, the main stream of the Ganga flows into Bangladesh by
which name ?

(A) Bhagirathi (B) Meghna (C) Son (D) Padma
HUFHT o W, T Shl J&T URT SHeATes | ford 8 | S5t 8 2
(A) wrfieef (B) TEAT (C) 49H (D) UeHT

Which of the following places in Rajasthan is likely to have the highest
temperature on a day in June ?

(A) Barmer (B) Jaipur (C) Bhilwara (D) Udaipur
TSTE o T 1 @ form v 8 53 o e e Isram qromm s e gt 7 2
(A) STEW (B) SEX (C) e (D) 3&ax

Which soil is rich in iron and aluminium compounds ?
(A) Laterite soil (B) Black soil (C) Yellow soil (D) Alluvial soil

i € 7aT ARRA 3R Tegiem Aifirent § T9g 8idl 8.2
(A) AT (B) Frefigm  (C) dfiger (D) g A

Zawar mines are famous for

(A) lead and zinc (B) mica and bauxite
(C) iron and copper (D) sulphur and gypsum
SR @e 39 fou ufag @

(A) T 3R & (B) WIS 3R STeraTSe
(C) T 3R e (D) TRt 3R foreem

Which of the following projects comprises the Gandhi Sagar dam, The
Jawahar Sagar dam and the Rana Pratap Sagar dam ?

(A) Chambal project (B) Damodar Valley project

(C) Rihand project (D) Machkund project

= 4 9 forg wiwsn § wiieft 9w STy, SeTet IR S99 3T 0T T99 R 91
IMHA & ?

(A) = YRS (B) gmHIe =Tt ufEsHT

(C) T afensm (D) TEHUE TSI

The leading producer of coffee in India is

(A) Karnataka (B) Maharashtra (C) Gujarat (D) Uttar Pradesh
WILd | Shith! o STV IATGH &

(A) Fieh (B) Wiy (C) T (D) ITW I

Code No. : C-654/2020/Series-A 10



41.

42.

43.

44.

45.

The original Constitution of India is preserved in
(A) Archeological Survey of India (B) President House
(C) Prime Minister House (D) Parliament House

RN Hferer shY 9er-a Tferd 8
(A) YRA T AT Gaieqor § (B) UyHfd waq
(C) JumTEt o o (D) GO Y9aTH

The words ‘Socialist’ and ‘Secular’ were added to the Preamble of Indian
Constitution by which amendment ?

WA T | shl Sre1 | HHrSiene)” 3TN aH-{er sreqi <l fohe w=ie gra
EISREIRIN
(A) 17 B) 7 (C) 427 (D) 440

No person shall be a citizen of India if he has
(A) Voluntarily acquired citizenship of another country

(B) Accepted employment in another country 9@%@3
(C) Been convicted by a foreign court of law (el

(D) Lived in a foreign country for more than five years

hIg Saferd WA Sl ANTIEh T2l BIT ATC I8

(A) T=BT Y 31T < 6T TATHEhAT I LT B |
(B) 31 < T TSI T ehR hidl 2 |

(C) Tereht feresft =mermer™ g 3rfirnfia fpem man 2 |
(D) di= ot & 3feres & foe feem A w @ & |

Which of the following writs is sought to get an order of an authority quashed ?

(A) Habeas Corpus (B) Mandamus

(C) Certiorari (D) Quo Warranto

71 4 9 I € @Ue WTTehTuT o1 JTCE ST i oh1 T i & ?
(A) S=GI Jcaefienul (B) THRH

(C); SeIuI-eiE (D) FRFR-g=1

Which Article of Indian Constitution ensures that Directive Principles of
State Policy cannot be enforced by any court ?

(A) Article33 (B) Article37 (C) Article4l (D) Article 51-A
I 9™ 1 A 91 3T gHTad il & b Tsa o Hifd Fewes fgrmai

! ToRet =ITITeTs gIRT AR A& foha ST Hehall 2

(A) 3T=BE33  (B) Ig=we37 (C) 3 =we4l (D) 3Ig=se 51-A

11 ~ Code No. : C-654/2020/Series-A



46.

47.

48.

49.

50.

The Council of Ministers are collectively responsible to the
(A) President (B) Parliament (C) Lok Sabha (D) Rajya Sabha

ot ufteg Tt w9 o fohaes ufa STer Bt 2 2
(A) Tgufa (B) ©Hg (C) dshaw (D) TSI |l

What is the minimum age to become the Prime Minster of India if he or she
is a member of Rajya Sabha ?

YR ST T S o foTt =pam 311y foht 8 Afe a8 T a1 61 T Te 2 2
(A) 25 (B) 30 (C) 35 (D) 45

How many members of the State Legislative Council are elected by the
Assembly ?

(A) 1/2 of the members (B) 1/3 of the members
(C) 1/4 of the members (D) 1/12 of the members
T T qiwe o fohde Heed foe™ |w1 g1 9+ Sd & 2

(A) GEH11/2 (B) T 1 1/3 (C) ST 1/4 (D) Te&di 1 1/12

The Supreme Court is empowered tosettle election disputes of President
and Vice President. This is its

(A) Miscellaneous Jurisdiction (B) Advisory Jurisdiction

(C) Appellate Jurisdiction (D) Original Jurisdiction

Tl <RI Tgdfd 3T 3Y-<Tgdfd = gTel forarg) ol e o Tt 8 | g 8 35eh!
(A) Tafay genfer (B) HEITEhI! &ATIUHR

(C) 3rfichia SR (D) TS &ATHR

Which of the following is administrative functions(s) of a village panchayat ?
(A) Maintenance of Road

(B) Providing sanitation and drainage

(C) ~Providing burial and cremation grounds

(D) All of these

= 1 @ B 91/9 U 9= 1/ SSEie B 2 /3 2

(A) TSh! B TEEE

(B) T=dl 3R et~ Tehtd YgH T

(C) hsATE TR IHAM Y7 TEH BT

(D) g aHl

CodeNe T Csin Sy Ty



51.

52.

53.

54.

5S.

During an emergency all of the following fundamental rights are suspended, except :
(A) Freedom of assembly without arms

(B) Freedom of speech and expression

(C) Freedom of association

(D) Personal liberty

FTITARIA o G T T+t 7 SR feafeaa &1 9 2, fam

(A) SrE o formT @ i & Wa=ar  (B) 9T 3R SAfvreafaa <t wd=rar

(C) aTg=d &6l W=l (D) SAfdaeh T

Planning Commission of India was

(A) A Constitutional body (B) An Executive body

(C) A Statutory body (D) None of these

YT BT ATSHT TR o7 Ueh

(A) Gt e (B) HEiwRI fHem =on
(C) wfafes fem (D) $TH.BHIS Tl

Union Constitution Committee appointed by the constituent assembly was
headed by

(A) Sardar Patel (B) Jawaharlal Nehru
(C) Dr. B.R. Ambedkar (D) Dr. Rajendra Prasad
Glaa™ a1 g e g9 afaaw afitfd & e o

(A) TER U (B) AT HEE

(C) . .3, =g (D) . Teig J4Tg

Which Act formed the basis or ‘blue print’ of the Indian Constitution ?
(A) Government of India Act, 1909 (B) Government of India Act, 1919
(C) Government of India Act, 1935 (D) None of these

form arfifem = e wfaym < smyr steEn o e’ @ fmir foear 2

(A) 9Rd TR rfafEm, 1909 (B) WRd TR Aff=m, 1919
(C) WRd TR rfafrm, 1935 (D) T ¥ I A&

Which part of the Indian Constitution deals with Union Territories ?
(A) Part-VI (B) Part-VII (C) Part-VIII (D) None of these
TR HGH™ 1 SIF A1 WIT §9 TsI&E] § Tri-d g 2

(A) 9T-VI (B) Wm-VII (C) 9F-VIII (D) 374 & I3 &l

13 ~ Code No. : C-654/2020/Series-A



56. States Reorganisation Act was enacted in which year ?

T gfeA Stfufem forg ot o arffrafia gam 2

(A) 1952 (B) 1956 (C) 1960 (D) 1966
57. The first woman President of India was
(A) Pratibha Patil (B) Vijayalaxmi Pandit
(C) Leela Seth (D) None of these
R sh! IUH Higer Tgatd ot
(A) Tfawr arfes (B) Tosmretet ufvsa
(C) i as (D) 378 A IS &
58. The only Prime Minister of India who died abroad during an official tour was
(A) Jawaharlal Nehru (B) Gulzari Lial Nanda
(C) Morarji Desai (D) Noneof these
WIRA o TohHTA TETHA Fehl IMTHehia R o g foewr & 9cg g3 ot
(A) AT I8% (B) ASIR! AT g
(C) WIS <@ (D) T & s
59. The number of Rajya Sabha seats in Sikkim is
(A) One (B) Two (C) Three (D) Four
fafepn o T e el i wen B
(A) T (B)~a (C) (D) =R

60. Who administers the oath to The Governor ?
(A) President
(B) Chief Justice of India
(C) Chief Justice of the concerned state High Court
(D) Speaker of the concerned state legislative assembly

TSI bl ¢ <h1 I9Y I feetamar 8 2

(A) Tgdfd

(B) YR = &I =ARTehs

(C) TEf~a T 6l 3= I o G&F =[rnedisn
(D) rafra T 6t faema & wffe
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61.

62.

63.

64.

6S.

While laying railway tracks, gaps have to be left between successive lengths
of rails to allow for

(A) Contraction during the summer (B) Expansion during the summer
(C) Increase in friction (D) None of these

d gl fos™ & R 38 foTu gefal 61 Sad! ol o e 37aud el
GFI'dT%:

(A) T % S Hped (B) T % SR fordr
(C) =urdafg (D) T8 & I3 T

A body moving in a medium with a speed greater than the speed-of sound in
the medium is said to be

(A) Infrasonic (B) Ultrasonic (C) Supersonic (D) None of these
Toreft w1 o el <t TTfd | 3AfeeR T & Teran g1 fuve sheaman &

(A) FHEIRS  (B) 3feg@Ns  (C) guEf®d (D) 98 & &5 Tl

A man standing in front of a special mirror finds his image having a very
small head, a fat body and legs of normal size. What are the shapes of the
parts of the mirror respectively ?

(A) plane, convex, concave (B) concave, convex, plane
(C) convex, concave, plane (D) None of these

U forery gdur % T e Afda 3 B R, Tet 1 3R A= SThR o W
1T 3791 Tferfereat ITaT @1 €901 o WFTI oh 3TTehTL ShHST: T & 2

(A) GHdA, 3dd, Hddal (B) 3Adddt, 3dc, THAA
(C) I, Added ;- BHAA (D) 78 O His A&l

=
Washing soda behaves in water as Pt

(A) Alkaline (B) Acidic (C) Neutral (D) None of these
IR ST TA | 3Hh! dE FIgR HLdT @

(A) &TH (B) < (C) e (D) T 8 &g Tel

Which is a synthetic polymer ?

(A) Cotton (B) Starch (C) Glycogen (D) None of these
HH T YA agereh (Fafes uifermy) 2 2

(A) i (B) WM (C) ™D (D) 30 8 hIs &l
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66.

67.

68.

69.

70.

71.

Before its distribution in big cities, the milk is generally subjected to

(A) Homogenisation (B) Pasteurisation

(C) Ion-exchange treatment (D) All of these

TS WA H 6o [T o 6 g HTHT=IA: 39 3TeH B &

(A) HHTTRTO (B) ar&q{ishtan

(C) ArRA-fafma IT=R (D) g ad

The fruits of Banyan, Pipal and Mulberry are mainly dispersed by
(A) Wind (B) Water

(C) Animals (D) Explosive mechanism
FOTE, YiueT 37 T8 o Bl 59 g Jehifild &id &

(A) & (B) S

(C) oft (D) ferepiess antehr
‘Sulphur shower’ which may give rise to an epidemic of hay-fever is a form of
(A) Sulphur dioxide (B) Carbon'monoxide

(C) Pollen-laden air (D) Nitrogen dioxide
Gt AL, ST WS- sh! TR bl 96T HeohdT 8, SHhT B9 8
(A) TEHL SE-AFES (B) . hTeA WIS

(C) -9 oY (D) TEgISH S3-3TETEE
Butter is a good source of which vitamin ?

(A) Vitamin A (B) Vitamin C

(C) Both (A) and (B) (D) None of these

Herg Topd fareTii 1 3121 |1d & 2

(A) faefim A (B) faerfim C

(C) (A) 3R (B) qHT (D) 3 4 HIE TE
Pace-maker is related to

(A) Heart (B) Lung (C) Liver (D) Kidney
TR foped TrafRa g 7

(A) & (B) %S (C) =Fd (D)

The Kothari Commission’s report was entitled as
(A) Education and National Development

(B) Education and Social Change in democracy
(C) Diversification of Education

(D) Learning without Burden

IS 3T 1 FGre w1 sfides 2
(A) e 3R U foepma (B) T31amm 3R <Arehe=1 § 91T UiEcq
(C) Trem =1 ferferferenton (D) e o for arferm
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72.

73.

74.

7S.

76.

The teaching technique must seek to utilise the social forces operative in
social life in order to develop capacity for

(A) social problems (B) social adjustment

(C) social attitude (D) social behaviour

Tregor qheieR 1 % o0 e foepfia & & o9 H gmIe St |
Y=Ifeld GTHTISTeh Sl o YA Sl Y hiAT I11RT |

(A) amTRTe guest (B) WIS GHTAISH

(C) |mI R (D) FMHINS AR

“There cannot be educated people without educated women”, this was
indicated by the

(A) University Education Commission (1948-49)

(B) United Nations Declaration on the elimination of disctimination against
women -

(C) New Policy on Education (1986) )

(D) None of these

“Tarfara wfgemati o fom frfera o 7€t 81 wohd 177 @18 Terwreh g0 gl fopen mm ¢

(A) Tereafesmers fret TR (1948-49)

(B) wfegetiati o foreg WewTa o SV U T U <hl SgaoT

(C) farem w7 +fifa (1986)

(D) 378 & HIE T

Creativity increases with

(A) age (B) experience (C) education (D) practice
TSHTCTRAT 5k |1 Sed! &

(A) 311 (B) I9a (C) Tem (D) ™
Triarchic Theory of Intelligence is proposed by

(A) Sternberg (B) Thorndike

(C) Stanford Binet (D) Guilford

i 1 erantdes fagra ferem wearfaa feram

(A) T (B) UHSEH (C) wwEfam (D) firewE

Programmed learning is based on

(A) field theory (B) operant conditioning
(C) classical conditioning (D) None of these
HATHSRIHA ST 39 W i 8

(A) & fagr (B) @5 STqpeT

(C) e 3TgReH (D) 8 U His T&l
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77. The National Institute at Hyderabad is related with

(A) Hearing Handicap (B) Mentally Handicap
(C) Visually Handicap (D) Orthographically Handicap
2etETe § U HEIH fhud grafRe 2 7
(A) S99 TEIH (B) T 3m@aH
(C) T2 IrEe™ (D) 3ATTihRe STem
78. Which is not a physical determinants of personality ?
(A) Homeostatis (B) Physical attractiveness
(C) Gender (D) Body builds
I T Teh SAferied h1 i et 72 8 2
(A) FEEITIA (B) ITHifeh SATehSehdr
(C) Totm (D) <8 sATEe

79. Human behaviour is determined primarily by
(A) an objective reality
(B) the phenomenal field including the phenomenal self
(C) social pressures
(D) physiological needs
TG FER M1fieh &9 9 fopeeh g faif@ g g ?

(A) Taer aredfershar (B) Wfaquiyes & Gfed Sfauiyes &
(C) wmmTeh o (D) wIifh STevshanati

80. Which is the apex body in the area of Teacher Education in India ?
WA § frereh e o6 &1 o i |1 Hai (e g 2
(A) UGC (B) MHRD (C) NCTE (D) NCERT

81. Himachal Pradesh lies between
(A) 30°22'to 33°12' North latitude and 75°47' to 79°4' East longitude
(B) 27°29'to 30°22' North latitude and 72°42' to 76°5' East longitude
(C) 25°29'to 28°22' North latitude and 73°49' to 77.5' East longitude
(D) None of these
fe.u. 5o off= a8
(A) 30°22' ¥ 33°12' 3T T 3R 75°47" | 79°4' T <M=
(B) 27°29'¥ 30°22' 3T ST&ATM 3T 72°42' § 76°5 T <M=
(C) 25°29'¥ 28°22' ITdl &A™ 3R 73°49' | 77.5' il GRIT=
(D) T8 & HIE T
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82.

83.

84.

8S.

86.

87.

88.

Himachal Pradesh became the part ‘C’ state in which year ?
(A) 1948 (B) 1950 (C) 1956 (D) None of these
fewmael wewt form o # 9Té <C” TSI w2

(A) 1948 (B) 1950 (C) 19356 (D) T ¥ WIS &
Chanderkup lake is located in which district of Himachal Pradesh ?

(A) Shimla (B) Lahaul-Spiti (C) Kinnaur (D) Chamba
Tetpy Hidt fe.90. o fopa ot & fua 8 2

(A) TRrer (B) WRE-&fifd (C) Fr=IR (D) =wT

Markanda river flows in which district of Himachal Pradesh ?

(A) Una (B) Kullu (C) Sirmour (D)“Solan
TRehve ¢ f. 7. % form oot & st 8 2

(A) S (B) ool (C) fauiR (D) |ieH
Mukkila glacier is situated in which valley of Himachal Pradesh ?
(A) Bhaga Valley (B) Chandra Valley -
(C) Kiarda Dun Valley (D) “Kullu Valley s

gfeaer feue fg.u. <t fepa amdl o fevra 2 2
(A) wrmErdt  (B) ==ErRl - (C) fRam@gmerdt (D)  weelHrEd
Bhunda festival is connected with which of the following ?

(A) Jamdagini (B) Parshuram (C) Renuka (D) None of these
UeT 3cd 1 # 9 fopes Fwifea & 2

(A) SHGRHT  (B)" RIH (C) ! (D) T 8 s &

The idea of Nalwari fair of Bilaspur was conceived by which of the
following ?

(A) Anand Chand (B) Dr. Y.S. Parmar

(C) W.-Goldstein (D) Lord Amherst
fTHYL o Torai 3cda 1 T f & fopeeh gTr srene fekarm T o 2
(A) IAH=< =< (B) €. 9M¥.TH. WHR

(C) T, TMeeH (D) S wHEw

Baijnath in earlier times was known as
(A) Kehloor (B) Pujarili (C) Brahmpur (D) None of these
ST ol TRIFeh ShTcl H 394 ST SITal o

(A) e (B) TuITed (C) &I (D) T 8 IS Tel
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89.

90.

91.

92.

93.

94.

9s.

Who found the new township of Mandi ?

(A) VijaySen (B) AbhaySen (C) Ayber Sen (D) None of these
HUE! o T IEL <hl TATIAT Fehe <6 2

(A) Tosr=em (B) IIEA (C) 3w=EA (D) TH H 1S gl

Mangu, a famous painter belonged to which district of Himachal Pradesh ?

(A) Mandi (B) Kullu (C) Kangra (D) Chamba

HI], Teh Ufeg Faeer f2.9. & fopm oot & avafa 8 2

(A) WSt (B) el (C) I (D) =T
Himachal Pradesh State Commission for women was constituted in which
year ?

fewmeret wgw TS afgen smEn fohe oy o wfed g3t 2

(A) 1992 (B) 1994 (C) 1996 (D) 1998
Nirmand copper plate issued during which century.?

e am wie form srared) % <e S <6 T 2

(A) 7™ (B) 110 (C) 14" (D) 17t

Firoz Shah Tughlaq besieged the fortrof Kangra in 1365 A.D. during the
reign of which ruler of Kangra ?

(A) Ghamand Chand (B) Sansar Chand

(C) Parava Chand (D) Rup Chand

HITST o T IHH o IMEFHTEA o GIH 1365 3. H TR 318 TTeTeh = HiTST &

opet <1 BT BTeT 2
(A) HHEE=< (B) TERE=< (C) UeE=< (D) &9

The battle of Nadaun was fought between Raja Bhim Chand of Kahlur and
which of the following in late 17" century ?

(A) Gurkhas (B) Sikhs (C) British (D) Mughals
TR 17601 SrTea) § AIGH ol JG e oh TSl HiHa= 3R 0 1 9 fohrieh S g3 2
(A) TTR@T (B) Tae@ (C) 3 (D) T

The Panchayati Raj Training Institute is located at which place in Himachal
Pradesh ?

(A) Jogindernagar (B) Mashobra

(C) Dharamshala (D) Manali

ST TS STTeT S 2.9, 6 fopd sum e 7 2

(A) Jf<ET (B) m?ﬁarr (C) YusTTeT (D) HATAT
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96.

97.

98.

99.

100.

101

Total number of National Parks in Himachal Pradesh is

.9, o uia 3l i o T@n @
(A) 2 B) 3 (C) 4 D) 5

Himachal Pradesh Agro-Industries Corporation Ltd. was set up in which year ?
TerT=e Te BV -ITURT W feAfies i Tomen fopg a9 1 g3 oft 2
(A) 1970 (B) 1971 (C) 1976 (D) 1981

If the first half of the English alphabet is written in reverse order, which
would be the 9™ letter from the left of 9 letter from your right ?

Ife 7SN SUHTAT 1 T2\ 37 I sHH | forat Srar @ a1 379eh e § 99 378 <6
ST T 99T 3T I 9T BT ? i
(A) F (B) 1 (C) D %% D) E

If the first and second letters of the word, ‘COMPENSATION’ are
interchanged, also the third and fourth letters, and so on, then which would
be the fourth letter from the right ?

(A) S (B) N )T (D) None of these
F¢ 718G ‘COMPENSATION’ % 98l ‘3R il 318 ! 99 § Seell Sl 8,
T 3 N 31 w1 oft, 3TN 3E qLe 3T, A S O AT IRW I G AN ?

(A) S (B) N © T (D) T 8 &g Tel

If orange is called ghee, ghee is called soap, soap is called ink, ink is called
honey and honey is called orange, then which one of the following is used
for cloth washing?

(A) honey (B) ghee (C) orange (D) ink

Ife 3RS 1 o e ¢, =t I TG Hed 7, TG I WTR! had &, TE! Bl T8e
B 8, I &G hl 3TN Had &, Al HYS G | F 1 § fopeh! = gt & 2

(A)._%&g (B) = (C) RS (D) @

In the following number series how many 9’s are which are preceded by 3
but not followed by 4 ?
2395139673948934932398393
e Ee sTEe | fohd 9 2 sh T8ci 38, Al I H 4 TR & 2
2395139673948934932398393

(A) 3 B) 4 ©) 5 (D) 6
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102. There are 32 steps in a temple. In the same time Amit comes down two
steps, Sumit goes up one step. If they start simultaneously and keep their
speeds uniform, then at which step from the bottom will they meet ?

T Al 1 32 Wifeat § | e a1 3ifia @ € 3awan 2, gita o Hiel @@
21 3fe 3 T 91y I[® L & R 70 i aue w@d 7, 9 | e @fidt ma
fored 2

(A) 9t /9dt (B) 10%/10df  (C) 11™11di (D) 12%/12df

103. Vikram is taller than Rajan, but shorter than Anie. Jamal is talled than Anie.
Sita is taller than Vikram. Rajan is shorter than Sita. Who is the shortest ?
(A) Rajan (B) Sita
(C) Vikram (D) Cannot be determined
o O forshn ovan 2, @fe U @ Amer @ | U § STt o @ | foshn @ i
A g | HAT H U AT g | 99E AR A | 2
(A) TSH (B) it
(C) ferspm (D) faaifc 7 foran S T |

104. The Cabinet Committee on Economic Affairs (CCEA) recently approved
T 1,340 crore recapitalisation for which category of banks ?
(A) Co-operative Banks (B) Public Sector Banks
(C) Regional Rural Banks (D) Payment Banks
e Ui W hfeme &HE (CCEA) 7 811 & 8 fohm ol &1 Sl & fotw
3 1,340 U o GG <l 370t €t 8 2
(A) TEHRI bl (B) fsft & st
(C) &rfiT arior et (D) T Siehi

105. What was the name of the Central Government’s economic package for the
poor to fight the corono virus pandemic and lock-down ?
(A)- Prime Minister Gareeb Kalyan Scheme
(B) Prime Minister Anandata Scheme
(C) Prime Minister Gareeb Suraksha Scheme
(D) None of these
HITAT IRE 3R ATh-8I37 8 e & U el o fAU g GhR & AT

UehsT oh1 T TH T 2
(A) JoFEA TS ST A (B) M ST=TErdr AT
(C) e e GRat AT (D) T ¥ IS A&
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106.

107.

108.

109.

110.

An important personality in Ambedkar’s historic conversion to Buddhism
passed away recently. What is his name ?

(A) Santu Mukherjee (B) Sadanand Fulzele

(C) H.R. Bhardwa;j (D) Potturi Venkateswar

ITFEIEHL o dig gH W UfaTieeh T & Hew@qUl SAfadcd 1 &1t &l H e
BT | IThT HTH 7 AT 2

(A) §qg@si (B) HEH= poisiel
(C) TE.IW. YRGS (D) el sehewar

What is the venue of the main national event for the sixth International Day
of Yoga, 2020 ?

(A) Leh (B) Nagpur (C) Coimbatore (D) Imphal
Tg FAAUFR A0 fead, 2020 % foTC g7 TEH 302 1 3RS WA A A1 g 2
(A) 7 (B) MY (C) ®FEE (D) 9%

Patil Puttappa, who recently passed away, was associated with which field ?
(A) Sports (B) Journalism (€) Business (D) Research
urfee geewT, feht g1at & 1 e 5o, forg &= @ Tt 9 2

(A) ©he (B) u=ehTH@r (C) = ™ (D) EYH

‘Pragyan Conclave 2020’ was an International Seminar organised by which
Armed Forces of India?

(A) Indian Army (B) Indian Navy %%E'If—_

(C) Indian Coast Guard (D) Indian Air Force

Y Hiatd 2020° TRA o fohd T8 Sl gRI ARG ST=ig SftFm o 2
(A) ST BT (B) R 8T

(C) AT e 1&Teh (D) W 91 &1

Which country recently become the first in the world to make public
transport free ?

(A) Italy (B) USA (C) Spain (D) Luxembourg
19 |1 < ATt Uag sl - 3eh s aret foga o1 guw 91 o1 2

(A) Zeett (B) J.UH.TU. (C) ¥ (D) AersTHE
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111.

112.

113.

114.

115.

The long term assets that have no physical existence but possess a great
value is known as

(A) Current assets (B) Fixed assets

(C) Intangible assets (D) Investments

GEwIeE qiErEl S Wifds et T8l 8l oifed 98d. 4cd 8l &,
HEI &

(A) =] aiEFfRt (B) rit ufewferi
(C) g uiEm o (D) fEw

Net profit is computed in the

(A) P & L Accounts (B) Balance Sheet
(C) Trial Balance (D) Trading Account
I[g 1Y hi TTUHT hl ATt &

(A) &9 — g @ o (B) g+ WA H

(C) ®H= g (D) STIR @raT §

If Trial balance totals do not agree, the difference must be entered in
(A) The Profit and Loss Account  (B) A Nominal Account

(C) The Capital Account (D) A Suspense Account
fe e et &1 dreat A fireran 2 at 31 shl ufarf st St =fae
(A) - e (B) ME-Td @rdl

(C) Yt @rar (D) 3gf=1 @rat

What do you mean by under conditions of perfect competition in product
market ?

(A) MRP=VMP (B) MRP>VMP (C) VMP>MRP (D) None of these
IeTE TSR /o1 Fferfiar <t fm feurfaei @ o1 o e § 2

(A) MRP=VMP (B) MRP>VMP (C) VMP>MRP (D) %8 & g T&l

The reason for the decline in the child sex ratio in India is
(A) Low fertility rate

(B) Female foeticide

(C) Incentives for boy child from Govt.

(D) None of these

YT | S1et fofT-31dTd | firrere 1 s SR g ?

(A) TR (B) & yurgen

(C) TThR T ASHI o U Ted@ed (D) 390 U hig &1
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116. What does Price Flooring mean ?
(A) Shortages (B) Surpluses (C) Equilibrium (D) None of these
IH o T T 3L 7 2
(A) IFdar (B) ARy (C) qe= (D) 3 € IS &l

117. The goal of a pure market economy is to meet the desire of
(A) Consumers (B) Companies
(C) Workers (D) The Government
[ TR FAATEAT T A Fehwreh! et Tl hET 7 7

(A) SUMETH  (B) HEAIH  (C) FHBREH (D) TR

118. The Law of Demand means
(A) as the quantity demanded rises, the price rises.
(B) as the price rises, the quantity demanded rises.
(C) as the prices rises, the quantity demanded falls.
(D) as supply rises, the demand rises.

A1 61 fm 1 37 8
(A) S & =i h AT Sl 7, HHd sedl 2 |
(B) & & hiwd et &, WhT 6l AT sget ¢ | 2

(C) S8 & <hiwd st &, win <l wr et 2 |
(D) & & 3myfd gt 8, AT gt § |

119. Legal service ratio of equal to
farferss Tam 31uTd 35 SR BT 3
(A) CRR/SLR (B) CRR-SLR (C) SLR-CLR (D) CRR+SLR

120. A direct tax is atax which is imposed on
(A) corporations only (B) individuals only
(C) individuals and corporations (D) None of these
& L, T8 T & ST ST ST B
(A) haet fmi (B) haet SAfFaal 1
(C) =afeqat 3 fmi o (D) T & IS TE

121. The major source of revenue receipts for the Govt. is not
(A) Tax Revenue (B) Incometax (C) Wealthtax (D) Profits
LT o ToIu Troreer Tifedt o1 & Hid T 8

(A) WG (B) 3R (C) = (D) @9
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122.

123.

124.

125.

126.

127.

Which cost is incurred even if the company is closed ?

(A) Sunk cost (B) Historical cost
(C) Shut down cost (D) Imputed cost
I H AT Icq= BIdl & TAY B SG 8 ?

(A) Sgd AN (B) ufceTiees anTd
(C) 31 S=A AN (D) 3T AT

Toy Manufacturing Companies use what type of costing ?

(A) Multiple costing (B) Process costing
(C) Unit costing (D) Batch costing
Raeftar fFator swrot form Jepr Y @mTa e 61 = et B 2
(A) &g AnTad-femo (B) fsran amra-feior
(C) 318 AmTa-Teor (D) WY AT -faRor
Which of the following is the characteristic of a:business ?
(A) Production (B) Exchange of sale
(C) Risk element (D) “All of these

=1 5 9 % & SeaE & fowar g ?

(A) 3T (B) fuwrafafma (C) sifemaw (D) s wsft

Which of the following is not'a Management function ?

(A) Planning (B) Staffing (C) Co-operating (D) Controlling
7= % @ o o1 vy e TR 7 2

(A) FEs= (B) ik (C) wEsll (D) T

To have an effective delegation is important to have a responsibility along with
(A) Authority (B) Manpower (C) Incentives (D) Promotion

T TS & o oTe 98 Hewaqul & foh Iierhiea g1 9feT

(A)- STTRTT 3 |1 (B) HHE o4  H1Y

(C) JIcwaTed o A1y (D) HaYA & A1y

Which of the following element is not a part of communication process ?
(A) Decoding (B) Communication

(C) Channel (D) Receiver

f1 T | S 91 awd =R 1 9T T8 & 2

(A) faepre (B) =R (C) I (D) i
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128. Individual respondents, focus groups and panel of respondents are
categorised as

(A) Primary data sources (B) Secondary data sources
(C) Itemized data sources (D) Pointed data sources
SfeRTd i, g T 3R fdanieat 1 39eT I 369 YR Ffiehd &1 &
(A) TUfies et | (B) feciores e |ra

(C) TeaR S1el |id (D) Tergferd STeT &ia

129. Policy formulation comes under which role ?

(A) Top level Managers (B) Middle level Managers
(C) Operational Management (D) All of these

fifar fmior form sifirent < 3T=ia 31T & 2

(A) 3N TR e (B) HET TR Ya-Eeh

(C) F=TeH e (D) og @t

130. If we take goods for own use, we should :
(A) Debit Drawings Account : Credit Purchase Account E{éﬁ
(B) Debit Drawings Account : Credit Stock Account
(C) Debit Sales Account : Credit Stock Account
(D) Debit Purchase Account : Credit Drawings Account

Jfe &1 T o ITAM o ToTw o7t Wiied & af 88 T A1y ;
(A) 3TTE0T W1 Sfee : 3h W1 shise
(B) &0 WA Sfefe : Tieh @Il shise
(C) Tershar @Tan sfere : ek @t shfse
(D) 3HT WAl Sfere : (TET0T Wl shifse

131. The time of the singing of the birds has come. ‘Singing’ in this sentence is
(A) Participle (B) Infinitive  (C) Gerund (D) Adjective

132. It is but right to admit out faults. Which part of speech is but in the sentence ?
(A) Noun (B) Preposition (C) Conjunction (D) Adverb

133. ‘A person who spends his money recklessly 1s’ :
(A) Parsimonious (B) Prodigal (C) Stingy (D) Sparing

134. Spot the correct spelling and mark the choice which gives the correct
spelling :
(A) Litterateur (B) Litteerature (C) Literateur (D) None of these
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13S.

136.

137.

138.

The synonym of Alleviates is :
(A) To aggravate (B) To dilute (C) Tolessen (D) To worsen

The antonym of salient is :

(A) Insignificant (B) Noisy (C) Supernatural (D) Chief

‘When I called his residence this morning, he was still in bed.’
Fill in the blanks with appropriate preposition :

(A) into (B) at (C) on (D) for

The idiom ‘French Leave’ means :

(A) A person who does not take leave
(B) A long leave

(C) To take a day off and have fun
(D) To leave without permission

Directions : (Que. 139 to 142) : Read each sentence and choose the part of the

139.

140.

141.

142.

sentence that has an error.

(A) Although they are living

(B) 1in Delhi for the last five years

(C) they have not seen the Qutab Minar.
(D) No error

(A) United States and its allies were carrying
(B) out their anti-Afghan-activities

(C) in direct violation of the UN charter.

(D) No error

(A) They are forbidden

(B)~not to enter the sacred place and

(C) disobedience is punished with death.
(D) No error

(A) Rahul gave his

(B) B.A. final examination last year
(C) but failed to pass the examination.
(D) No error

CodeNe T CsiSems Ty



143.

144.

145.

146.

147.

148.

149.

150.
(A) /dovbi/ (B) /dhobi/ (C) /dhobi/ (D) /doibi/

Choose the incorrect passivisation :

(A) Sweets are contained in this box.

(B) He has been appreciated.

(C) Temples are thronged by devotees across India.
(D) This novel is being sold like hot cakes.

Choose the incorrect narration :

(A) He said to his mother, “Where did you find my books yesterday ?”
(B) He proposed to his friends that we should enjoy a game of cricket.
(C) His teacher inquired Ravi why he had been absent the previous-week.
(D) My mother wished me that I might live long.

Choose the correct sentence :

(A) Gandi was so compassionate that he could not hurt anybody.
(B) Will you lend me any money ?

(C) Good night ! I am pleased to meet you. E%E.‘g
(D) He is too obedient not to carry out your orders. s

Which of the following pairs is incorrect :
(A) Hare — Liveret (B)  Frog — Cygnet
(C) Cow — Heifer (D) Elephant - Calf

Choose the incorrect sentence where wrong modal is used :

(A) Had he started earlier, he would have caught the train.

(B) The authorities imposed lockdown so that Covid 19 might not transmit
fast.

(C) She needs not join'her office during lockdown.

(D) My grandparents would go to temple daily.

The horse and carriage at the door. (Agreement of verb)
(A) is (B) are (C) were (D) have been
‘The fair breeze blew, the white foam flew

The furrow followed free

We were the first

That ever burst

Into that silent sea’

Which figure of speech is used in the above line ?

(A) Simile (B) Metaphor (C) Apostrophe (D) Alliteration

The correct transcription of the word, DHOBI is :
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151.

152.

153.

154.

158S.

156.

157.

158.

159.

160.

ToTH e BTN

(A) i (B) ¥ (©)
i3 fe@mT geTeR Hr T FA B ?

(A) JGHGFSHT (B) AT (®)
‘S WL HETR ?

(A) &gd (B) sdEI (O
yree S1ferd o T JhR B 7

(A) 2 (B) 3 ©)
‘3TTE 7 &Il T1e hHlel TAlehlidd ol AT 8

(A) IIN Y GheIdl Bidl B (B)
(C) SHTHFAT (D)
‘Hgr o1 wifeces AG TR ?

(A) 3™ (B) 4™ (©)
‘TeE’ I fodm e A1 ?

(A) A (B) =¥ ©)
AR ol W=E= @ —

A) s (B) hardl (©)
‘fodder’ fga @ 7

A) =) B) () ©)
e /o ghT i &’ I FMHEd & 7

(A) TR (B) 3wl (C)

HIgH

YA T (D) €% S=hI bl

(D) fe

ferga (D) rgFaE
4 (D) 5
A& <h SHTUT 1
STOREEIT Tt g1

F3R (D) ¥
RESEIGIl (D) Ffeaa
Fre (D) A

() (D) )
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161.

162.

163.

164.

16S.

166.

167.

168.

169.

170.

‘S B HT I IIE 8 ?
(A) Tegey (B) fa
oo™ 4 yT @

(A) ¥ (B) 31®

‘eI U 3UT B
(A) 3 (B) Aty

“UTaeh’ <1 Giu-fa=se @

(A) 91+ T (B) T + 31

T + 3= 6 G gt 7

(A) TR (B) AR

JGIC DR ?

(A) 3S9dd (B) 3S@d

G W BT :

(A) HarEt (B) gfgnfd

‘¥’ T IHARTEH RTE ?
(A) g (B) He=

I SIS HHT TS B 7
(A) TSt (B) HEY

aar 1 fomwor 3
(A) qaH (B) adl

(©)

(©)

©

(©)

©)

©)

©)

©

©

©)

G (D) AFAaTa
L (D) ™
G| (D) #

9+ 3% (D) W+

REEC R (D) TI<K

I (D) 35ad

et (D) Toarh

qTeTe (D) &<
EACR (D) wH&TsT
i (D) aaft
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